
Spare parts list
(1.573-300.0) IV 60/36 -3W

Valid on 23.08.2018 www.kaercher.com EN



Table of contents

Valid on 23.08.2018 Page 2 / 25

IV 60/36 -3W (1.573-300.0)           3
106 Spare parts list IV 60/36-3W (5.972-501.0)           4

10 Individual parts           5
11 Top part           6
12 Bottom part           8

20 Vacuum motor         10
30 Tank           12

10 Tank complete replacement 100l (4.070-838.0)           15
40 Add-on kit liquid           17

110 Spare parts list accessories industry va (5.970-623.0)           19
10 Suction hose           20
20 Floor tool           22
30 Accessories           24



IV 60/36 -3W (1.573-300.0)

Valid on 23.08.2018 Page 3 / 25

POS Article no. Description Quantity Unit
110 5.970-623.0 Spare parts list accessories industry va 1.000 ST
106 5.972-501.0 Spare parts list IV 60/36-3W 1.000 ST



106 Spare parts list IV 60/36-3W (5.972-501.0)

Valid on 23.08.2018 Page 4 / 25

POS Description Quantity Unit
40 Add-on kit liquid 1.000 ST
10 Individual parts 1.000 ST
30 Tank 1.000 ST
20 Vacuum motor 1.000 ST



10 Individual parts

Valid on 23.08.2018 Page 5 / 25

POS Description Quantity Unit
12 Bottom part 1.000 ST
11 Top part 1.000 ST



11 Top part

Valid on 23.08.2018 Page 6 / 25



11 Top part

Valid on 23.08.2018 Page 7 / 25

POS Article no. Description Quantity Unit Foot note text
7 6.641-628.0 Cable gland PG16 1.000 ST
13 6.633-583.0 Control panel 1.000 ST
9 6.633-564.0 Covering cap 1.000 ST
12 6.633-580.0 Covering cap 1.000 ST
11 6.633-553.0 Handhold 1.000 ST
6 6.375-454.0 Lamp red 1.000 ST
5 6.375-453.0 Lamp white 1.000 ST
8 6.641-370.0 Locknut PG16-PA DIN 46320 1.000 ST
1 6.649-282.0 Power cable with plug 1.000 ST
4 6.421-362.0 Pressure gauge 1.000 ST
2 6.365-521.0 Seal 2.000 ST
14 6.633-596.0 Seal 1.000 ST
10 6.633-556.0 Spring 1.000 ST
3 6.375-456.0 Switch 2.000 ST QUANTITY ACCORDING TO DEMAND



12 Bottom part

Valid on 23.08.2018 Page 8 / 25



12 Bottom part

Valid on 23.08.2018 Page 9 / 25

POS Article no. Description Quantity Unit
2 6.437-562.0 Axle 2.000 ST
8 6.633-588.0 Bush 2.000 ST
9 6.633-599.0 Handhold 1.000 ST
10 6.633-629.0 Lever 2.000 ST
3 7.343-007.0 Locking ring 20x1,2-FST-RF DIN 471 4.000 ST
11 6.633-630.0 Retaining bracket 2.000 ST
6 6.633-565.0 Retaining bracket 1.000 ST
7 6.633-589.0 Spacer washer 2.000 ST
1 6.375-459.0 Spring 2.000 ST
4 6.375-460.0 Wheel 2.000 ST
5 6.375-461.0 Wheel 2.000 ST



20 Vacuum motor

Valid on 23.08.2018 Page 10 / 25



20 Vacuum motor

Valid on 23.08.2018 Page 11 / 25

POS Article no. Description Quantity Unit
16 6.904-365.0 ABS filter category H 1.000 ST
1 6.661-267.0 Anti-interference capacitor 1.000 ST
18 6.633-626.0 Base plate 1.000 ST
5 6.610-204.0 Carbon brush set only for replacement 1.000 ST
21 6.633-598.0 Covering cap 1.000 ST
7 6.415-875.0 Filter 1.000 ST
15 6.904-345.0 Filter category H IV60/100 1.000 ST
9 6.961-909.0 Rubber bushing 1.000 ST
4 5.363-393.0 Seal 1.000 ST
20 6.633-597.0 Silencer 1.000 ST
19 6.633-613.0 Silencer 1.000 ST
10 6.643-962.0 Strip terminal 1.000 ST
3 6.375-455.0 Switch 130 mbar 1.000 ST
6 6.490-139.0 Vacuum motor -230V 1PH 50/60HZ 1.000 ST
8 6.580-002.0 Valve 1.000 ST



30 Tank

Valid on 23.08.2018 Page 12 / 25



30 Tank

Valid on 23.08.2018 Page 13 / 25

POS Article no. Description Quantity Unit Remark
32 7.311-334.0 Cap nut M6 -A1-50 DIN 917 8.000 ST
13 6.435-242.0 Castor without brake 75 4.000 ST
9 6.906-932.0 Clamp 1.000 ST
23 6.633-569.0 Connection 1.000 ST
34 6.394-592.0 Drain cock complete 1.000 ST
18 6.394-602.0 Filter retainer 1.000 ST
22 6.633-554.0 Filter vibrator 680mm 1.000 ST
2 6.904-341.0 Filter white IV 60/100 1.000 ST
15 6.394-595.0 Float 1.000 ST
17 6.394-596.0 Float complete 1.000 ST
6 6.321-195.0 Hand grip 2.000 ST
30 5.321-699.0 Handhold 2.000 ST
33 7.311-524.0 Hexagon nut M10-A2-70 ISO 7040 4.000 ST
12 7.311-435.0 Hexagon nut M12x1,25-6-A2E ISO 10512 4.000 ST
20 6.633-686.0 Holder box IV 60 links / rechts 1.000 ST
14 6.394-593.0 Joint ring 1.000 ST
26 6.362-015.0 Joint ring 21X30X2 1.000 ST
16 6.394-594.0 Joint ring Zyklon 1.000 ST
24 6.633-611.0 Locking clip 2.000 ST
3 6.375-457.0 Locking part 1.000 ST
25 6.385-672.0 Locknut G 1/2" 1.000 ST
27 6.132-002.0 Plug box 1.000 ST
31 7.306-193.0 Screw M6x16 -A2-70 (In6Rd) 8.000 ST
1 6.365-517.0 Seal 1.000 ST
29 6.273-236.0 Seal 4.000 ST
4 6.365-516.0 Seal 1.000 ST
8 6.365-522.0 Seal 1.000 ST
28 5.058-523.0 Sheet metal component 4.000 ST
7 6.394-821.0 Tank complete 60l 1.000 ST
10 4.070-837.0 Tank complete replacement 60l 1.000 ST 60l
10 4.070-838.0 Tank complete replacement 100l 1.000 ST 100l
21 6.633-689.0 Tank IV 60 1.000 ST
7 6.394-822.0 Tank with drain cock 60l 1.000 ST



30 Tank

Valid on 23.08.2018 Page 14 / 25

POS Article no. Description Quantity Unit Remark
19 6.394-603.0 Tension ring 1.000 ST
11 7.312-008.0 Washer 12-200HV-A3E ISO 7090 4.000 ST
5 6.435-739.0 Wheel 60 4.000 ST



10 Tank complete replacement 100l (4.070-838.0)

Valid on 23.08.2018 Page 15 / 25



10 Tank complete replacement 100l (4.070-838.0)

Valid on 23.08.2018 Page 16 / 25

POS Article no. Description Quantity Unit
10 7.311-334.0 Cap nut M6 -A1-50 DIN 917 8.000 ST
2 6.435-242.0 Castor without brake 75 4.000 ST
8 5.321-699.0 Handhold 2.000 ST
11 7.311-524.0 Hexagon nut M10-A2-70 ISO 7040 4.000 ST
4 6.362-015.0 Joint ring 21X30X2 1.000 ST
3 6.385-672.0 Locknut G 1/2" 1.000 ST
5 6.132-002.0 Plug box 1.000 ST
9 7.306-193.0 Screw M6x16 -A2-70 (In6Rd) 8.000 ST
7 6.273-236.0 Seal 4.000 ST
6 5.058-523.0 Sheet metal component 4.000 ST



40 Add-on kit liquid

Valid on 23.08.2018 Page 17 / 25



40 Add-on kit liquid

Valid on 23.08.2018 Page 18 / 25

POS Article no. Description Quantity Unit
1 2.882-695.0 Add-on kit liquid 1.000 ST
2 6.362-015.0 Joint ring 21X30X2 1.000 ST
3 7.387-163.0 Reducing nipple N4-1"x1/2"-1.4571 EN1024 1.000 ST
4 5.731-645.0 Shavings strainer add-on kit liquids 1.000 ST



110 Spare parts list accessories industry va (5.970-623.0)

Valid on 23.08.2018 Page 19 / 25

POS Description Quantity Unit
30 Accessories 1.000 ST
20 Floor tool 1.000 ST
10 Suction hose 1.000 ST



10 Suction hose

Valid on 23.08.2018 Page 20 / 25



10 Suction hose

Valid on 23.08.2018 Page 21 / 25

POS Article no. Description Quantity Unit Remark
6 6.373-977.0 Clamp Bandimex 2.000 ST
5 6.906-810.0 Connecting piece DN51 1.000 ST D=51mm
5 6.906-811.0 Connecting piece DN61 1.000 ST D=61mm
4 6.906-784.0 Suction hose metal DN51-5m 1.000 ST D=51mm /// L=5m
4 6.906-775.0 Suction hose metal DN61 5m 1.000 ST D=61mm /// L=5m
1 6.906-791.0 Suction hose plastics DN51 5m 1.000 ST D=51mm /// L=5m
1 6.906-787.0 Suction hose plastics DN51 10m 1.000 ST D=51mm /// L=10m
1 6.906-781.0 Suction hose plastics DN61 5m 1.000 ST D=61mm /// L=5m
1 6.906-782.0 Suction hose plastics DN61 10m 1.000 ST D=61mm /// L=10m
2 6.906-786.0 Suction hose PU DN51 5m 1.000 ST D=51mm /// L=5m
2 6.906-788.0 Suction hose PU DN51 10m 1.000 ST D=51mm /// L=10m
2 6.906-777.0 Suction hose PU DN61 5m 1.000 ST D=61mm /// L=5m
2 6.906-778.0 Suction hose PU DN61 10m 1.000 ST D=61mm /// L=10m
3 6.906-789.0 Suction hose rubber DN51 5m 1.000 ST D=51mm /// L=5m
3 6.906-779.0 Suction hose rubber DN61 5m 1.000 ST D=61mm /// L=5m



20 Floor tool

Valid on 23.08.2018 Page 22 / 25



20 Floor tool

Valid on 23.08.2018 Page 23 / 25

POS Article no. Description Quantity Unit Remark
15 6.906-808.0 Brush-corona across for replacement 1.000 ST
17 6.906-809.0 Brush-corona round for replacement 1.000 ST
16 6.906-797.0 Brush nozzle across electrically conduct 1.000 ST D=51mm
3 6.903-067.0 Brush strip set 1.000 ST L=500mm
1 4.130-408.0 Floor tool complete DN51 370mm 1.000 ST D=51mm /// L=370mm
1 4.130-412.0 Floor tool complete DN51 500mm 1.000 ST D=51mm /// L=500mm
1 4.130-413.0 Floor tool complete DN61 500mm 1.000 ST D=61mm /// L=500mm
6 6.906-793.0 Floor tool electrically conducting DN51 1.000 ST D=51mm /// L=500mm
6 6.906-802.0 Floor tool electrically conducting DN61 1.000 ST D=61mm /// L=500mm
12 6.903-016.0 Roller 2.000 ST
18 6.906-798.0 Round brush electrically conducting DN51 1.000 ST
9 6.906-834.0 Rubber lip Triangle nozzle 2.000 ST
5 6.906-832.0 Rubber strip floor nozzle 300mm 1.000 ST L=300mm
7 6.906-833.0 Rubber strip floor nozzle 500mm 2.000 ST L=500mm
2 6.906-168.0 Rubber strip set oil resistant 1.000 ST L=500mm
2 6.903-081.0 Rubber strip set oil resistant 1.000 ST L=370mm
2 6.906-146.0 Rubber strip set oil resistant 1.000 ST L=450mm
11 6.906-835.0 Steel strip Triangle nozzle 300mm 2.000 ST
4 7.777-999.0 Stockpiling discontinued 1.000 ST D=51mm /// L=300mm
4 7.777-999.0 Stockpiling discontinued 1.000 ST D=61mm /// L=300mm
8 6.906-773.0 Suction nozzle plastics DN51 1.000 ST D=51mm
8 4.130-415.0 Surface nozzle complete DN61 1.000 ST D=61mm
10 6.906-796.0 Triangle nozzle electrically conducting 1.000 ST D=51mm
10 6.906-805.0 Triangle nozzle electrically conducting 1.000 ST D=61mm



30 Accessories

Valid on 23.08.2018 Page 24 / 25



30 Accessories

Valid on 23.08.2018 Page 25 / 25

POS Article no. Description Quantity Unit Remark Foot note text
13 6.789-003.0 Connecting piece DN51 1.000 ST D=51mm
13 6.789-004.0 Connecting piece DN61 1.000 ST D=61mm
14 6.902-212.0 Connecting piece IV auf DN72 1.000 ST
11 6.906-799.0 Connecting sleeve DN51 1.000 ST D=51mm
11 6.906-800.0 Connecting sleeve DN61 1.000 ST D=61mm
6 6.906-831.0 Crevice nozzle curved DN51 1.000 ST D=51mm
5 6.906-768.0 Crevice nozzle DN 51 1.000 ST D=51mm PLASTIC
5 6.900-222.0 Crevice nozzle DN61 1.000 ST D=61mm PLASTIC
3 6.900-926.0 Crevice nozzle stainless steel DN61 1.000 ST D=61mm METAL
2 6.906-767.0 Elbow stainless steel DN51 1.000 ST D=51mm
2 6.906-850.0 Elbow stainless steel DN61 1.000 ST D=61mm
12 6.906-837.0 Pipe cleaning nozzle DN51 1.000 ST D=51mm
10 6.902-147.0 Reducer DN61/DN51 1.000 ST
7 6.906-770.0 Scraper nozzle and grater nozzle DN

51
1.000 ST D=51mm

7 6.903-360.0 Scraper nozzle and grater nozzle
DN61

1.000 ST D=61mm

4 6.394-530.0 Shavings basket complete 1.000 ST
8 6.906-773.0 Suction nozzle plastics DN51 1.000 ST D=51mm
8 6.903-056.0 Suction nozzle plastics DN61 1.000 ST D=61mm
9 6.902-146.0 Suction nozzle rubber 45° DN51 1.000 ST D=51mm
9 6.902-106.0 Suction nozzle rubber 45° DN61 1.000 ST D=61mm
1 6.906-766.0 Suction tube stainless steel DN51 1.000 ST D=51mm
1 6.906-851.0 Suction tube stainless steel DN61 1.000 ST D=61mm

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

	Table of contents
	IV 60/36 -3W (1.573-300.0)
	106 Spare parts list IV 60/36-3W (5.972-501.0)
	10 Individual parts
	11 Top part
	12 Bottom part

	20 Vacuum motor
	30 Tank
	10 Tank complete replacement 100l (4.070-838.0)

	40 Add-on kit liquid

	110 Spare parts list accessories industry va (5.970-623.0)
	10 Suction hose
	20 Floor tool
	30 Accessories



